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$1 UeF U7 § et 28 e & | Wt e siferard 2

There are in all 28 questions in this question paper. All questions are compulsory.

et &g FreiRa 3id 396 Tw s 3ifed &l

Marks alloted to the questions are mentioned against them.

YA T B SHIGSD Uled a2l Ffod IR Sifore|

Read each question carefully and answer to the point.

Yo EET 1 SEfadedrd 0o &1 3 WY & D W@US & IR H IR fdded 6l T &
e famea o ITRgRad ¥ fuRae| weu s 2 9§ 7 96 Fivad 3T 524 £
Question No. 1 1s multiple choice question. Four options are given in answer of each part of
this question. Write correct option in your answer book. Question No. 2 to 7 are definite
answer type questions.

o T 1 BT IS WU U 3ich 1 & W T 2 9 7 TS U 37 & U &
I T 8 | 17 Tdb &l 3ich & U 2| T HAT 18 25 b o 37 b Y

&1 v AT 26 § 28 T% AR 36 & 9 &
Each part of Question No. 1 carries one mark. Question No. 2 to 7 are of one mark each.

Question No. 8 to 17 are of two marks each. Question No. 18 to 25 are of three marks
each. Question No. 26 to 28 are of four marks each.

T U-UF H T | D18 [dbed T81 & a2y iy ye=i & 3riaRke fdeea e
fasar o 21 T el § Fae v fGsed &1 & 3R Afsw|

There is no overall choice in this question paper, however, an internal choice has been

provided in few questions. Attempt only one of the given choices in such questions.

(vii) STET 3Ta%as 81 39 FrefeiRad Wifis Fridiel & w1 &1 U aR Ted & -

Wherever necessary, you may use the values of following physical constants -
. 1 &
c=3x10°ms ™, h=6.61043s, e=1.6x1071°C, p,=4mx 10" TmA ™!, 7——=9x10°Nm*C™*
Y o R (mass o 0.1x10° g, TRHT B TR -
SCTaRTH Neld (mass of electron) m=9.1x107" kg, ~JgI- H&ld (mass of neutron)

mn:1.67><1()"27 kg, SI(‘C(JHH Fradais (Boltzmann's Constant) k=1.381x10-2 JK-!;
3ITANTIEY T (Avogadro Number) N ,=6.02x10% mol .
[1] [P.T.O.
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1. (®) 1 dIee fawaR R @Rd setaei & Fa1 8 & 1

(i) 13 (i) 1 3ciagM-adlee
Giiy 1 3nf (iv) 1dfc
Energy of an electron, accelerated at 1 volt potential difference is-
(i) 1 Joule (i) 1 electron-volt
(iii) 1 erg (iv) 1 watt
(@) YRT e J qAT HYGTE a7 V, § a=er & - e
Relation between current density J and drift velocity W15
() J=nev, e \E,f‘
(i) JI= Vine- (iv) J=nev/
(1) ﬁﬁwwmmﬁwsﬁaﬁqéﬁEMWJammmél Selag = T T
- 1
(i) WRIATIR (i) ArdgAIER
(i) FATBR (iv) IRA G

An electron enters perpendicularly in a uniform magnetic field. The path of
electron will be -

(i) Parabolic (ii) Elliptical
(ii) Circular (iv) Straightline

(7)ot 1 Fram fore diftes IfdT & Remor &R amenRRa &2 1
(i) 3maer (i) Faif
(iii) GFEDIT eI (iv) S
Lenz's law is based on the conservation of which physical quantity?
(i) Charge (ii) Energy
(iii) Magnetic flux (iv) Momentum

(5) fciRea # & B < o= faega gt <t &2 1
(i) eafy o=t (i) Ty <t
(iii) S¥eT A (iv) TN ¥ 3 qat

429 (IGU) [2]
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Which of the following waves are electromagnetic waves?

(i) Sound waves (ii) Radio waves

(iii) Water waves (iv) Waves produced in a thread

60° oT T e 4 e e o Refer 3 e Roor 30° hon & Fareore ek 21
firsw R fosoT @ 3nTeH HoT &- 1
(i) 30° (ii) 48°

(i) 60° (iv) 90°

A ray deviates by an angle 30° in a prism of angle 60° in minimum deviation

condition. The angle of incidence of ray on prism is -

(i)n. 30; (i) 45°

(iii) 60° (iv) 90°

BISEIS TRAY] H JOIaci o T2 BT ol (5T 0.53A° §| 3D TR HET Bl
Prsar gmm- 1
(i) 4.77A (i) 1.69A°

(i) 1.06A° (iv) 1.0A°

In hydrogen atom, radius of first orbit for electron is 0.53A°. Radius of it's
third orbit will be -

(y 4.778 (i) 1.69A°
(i) 1.06A° (iv) 1.0A°
p-n S SIS & 3796 IR H 8 &- 1
(i) obacT PIe (i) Pt soIR
(i) ST q Prex AT (iv) TP, 7 serag =
In p-n junction diode, the depletion layer consist of -
(i) Only holes (ii) Only electrons
(iii) Electrons & holes both (iv) Neither holes nor electrons
[31] [P.T.O.
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2. To uRwer & yeamaelt ey a7 9§ T V2 AT R &1 o e T W a4
The peak value of alternating current is V2 Ain a circuit. Find root mean square
value of current.

23 %@rﬁﬁuﬁmaﬁ@mqﬂmu&mﬁmwﬁm%ﬁa@l 1
Write the relation between focal length (F) and radius of Curvature (R) of a
spherical mirror.

4. mégaamwwaﬁéﬁamésmﬂaaﬁmmmaaﬁ%m 1
Show graphically the effect of intensity of Light on photoelectric current,

5. BICH & S5 o G § Hrgey foRaw 1
Write the relation between energy and momentum of a photon.

6. %@ﬁﬁmmzwwmﬁ‘l $® TS & gt o i et
gRTr? 1
Any element has atomic number Z and mass number A. How many neutrons
will be there in its nucleus.

7. 'AND' TT &1 §ferae st forRap| 1
Write Boolean expression for 'AND' Gate.

8. 12pF &1 U WA 50V e 3 577 2| ey H fooet Rer g ot iy B

2
A 12pF capacitor is connected to 50V battery. How much electrostatic energy is
stored‘ in the capacitor?

9. W%mimwrdﬁﬁmfmésa‘rwfﬁ%ﬁl 2
Give two reasons of energy loss in actual transformers.

10. uﬁmﬁagwg?ﬁﬁagﬁaﬁs.otfﬁnmaﬁwom |DB0S H I B STl & Y
%ﬁum@vgﬁ}ﬁmﬁﬁaﬁgamaa 15,000 9T &1 21 39 pUshmd & meg
3T IRT 0T ST o 2
If the current becomes zero in 0.01 second in the primary coil carrying 3.0 A
Current then the induced e.m.f. in secondary coil is 15,000 volt. Find the Coefficient
of mutual inductance between these coils,

429 (IGU) [4]
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11. 30,0004 TR Bt eI GricPg o B R ST BT T e e b Ry T

@Y erdfd BRell 27 2
0

Find the frequency of an electromagnetic wave of wavelength 30,000 A. Which

part of the spectrum is represented by this wave?

12. 6000A TRILEH BT FhIeT aTg R 1.5 TSI qTeY HTears 3 FaeT vl | Hrea 3 56T
o e 3ngft s Bifore| 2
Light of wavelength 6000A enters from air into a medium of refractive index
1.5. Find it's velocity and frequency in the medium.

13. Ife I3 Bl BT IR & AI&T Hifvcics DIoT 41.14° & A1 13 B I & BisH 5 Tor) Terrt
foRoT 3 yof Sifse| 2
If the critical angle of crown glass with respect to air is 41.14° then complete
the adjacent ray diagram for a prism made of crown glass.

7 i \
90°
4590
3RAI/OR
feeit ureett wmeam a1 ggqur o i, & e 3@ wremw § yerer & we v 21 aft Rt
Y1l I TTeT ¢ B @l i, B A ¢ 90T v & Tat § yafg S|
Angle of polarization of a transparent medium is i, and speed of light for that
medium is v. If speed of light in vacuum is c then represent ip in terms of c and v.

14, WRIEdT gRaQi BT Al fohRoT 3R a1 | 2
Draw the labeled ray diagram of reflecting telescope.

15. TR 31k 3Y3 & gear e Meaeleea varet @ e uRrer i s@ey <@ s

2
What percentage of a radioactive substance will remain left after four life periods.

16. 'LED' T &? LED & & Ifts TRMRD aveie vl &t qerm 3 of oy fifae) . 2
What is 'LED'? Write two advantage of LED over conventional incandescent low
power lamps.

3RIdI/OR
SR SIS B BRIYUTE THIEL|
Explain the working of Zener diode.
429 (IGU) [5] [P.T.O.
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18.

19

U

21

22,

e @1 fHom foRed e 891 daex waw A weikfa sifswel 2

Write Coulomb's law and show it in vector form.

1.5 uC 3R 2.5 uC 3ma9T aTa & G&H Mt 30 cm R et &1 A1 3maent & e arent
@1 & 7y foeg W foed & 51 aifse| 3

Two tiny spheres carrying charges 1.5 uC and 2.5 uC are located 30 cm apart.
Find the electric field at the midpoint of the line joining the two charges.

favamd &1 Ragra foRae| faweam ve 3mest dicediex o aRE &1 axdl &, TIP3

Write the principle of potentiometer. Potentiometer works as an ideal voltmeter,
why?

ST I & 3R W dilg qraabed Bl AR HifoTe| 3

Explain ferromagnetism on the basis of domain theory.

I f&d T aRuT W B! T Se9 @Y YR dxel &1 afe W @ amgf @ Qe ok fean
S0 @9 'C' 91 'L’ & 9 {69 bR uRafad 89 ol i ac5 o awe 9 @1 3

In the circuit given below 'B' represents a bulb. If the frequency of source is
doubled then how should 'C' and 'L' be changed so that brightness of the bulb

remains same. B
L1703 0 R
e 9

&
p& -

T 3TCT o¥ &b JaTe] 7 Ui n &1 § n_ UG aTet febeit e # gall feam e
8 UBIRT BT U AR fR0T §=a1 o OR e grar &1 e aRkferfaat & sroafda
foszor & vt @1 Fafia Hifsre- 3

The refractive index of a convex lens material is n. It is dipped in a medium of

refractive index n. A parallel beam of light incidents on lens. Depict the path of
refracted ray in foilowing conditions :

(i) n >n (i) n <n (iii) ="

3RdI/OR
U SFTeT a7 3R U Fee vt T e e < e &1 ey e e & 3 e
Bi gRal § T uRad BT

A concave mirror and a convex lens are dipped in water. What will be change in
their focal length in comparison to that of in air?

429 IGUL) [6]

Downloaded from cclchapter.com



23, ﬁ%ﬁm%&%ﬁwmmﬁmﬁﬁm%ﬁﬁm%ﬁw
uRafda gt : 3
(i) SeraeHT & IS Hart
(if) YebreT e R
(iii) R faug
3 FTR B JHIOE S|
If the frequency of incident light on the cathode of photocell is doubled then how
will the following change :

(i) Kinetic energy of electrons
(i) Photoelectric current

(iif) Stopping potential

Justify your answer.

24, méw%w%wﬁﬁq%mxmsﬁam@%vam%%q%
mmquﬁaasw%@rmmé? 3
Draw the graph of binding energy per nucleon as a function of mass number and
explain what is the relation of binding energy per nucleon with stability of nucleus?

341/ OR
T e 3 1 9 aTERre & 0,993 I giferaw o At 21 aft 51 3 qarar
5% Bl d 39 F377 3 0T B
0.993 gm helium is produced by 1gm hydrogen in nuclear fusion. If the efficiency
of generator is 5% then calculate the energy produced.

25. NANDWNOR%ET%W@%@WWWW&%&I 3
Draw the logic symbol of NAND and NOR gate and give their truth table.

3REdI/OR
p-naﬁ:mmmmwmmmmmaﬁm f7aer 3ik forfa
AT & TR T B g 8U 59! febanfafer gy
Draw circuit diagram of full wave rectifier by using p-n junction diode. Explain it's
working by drawing input and output voltage waveforms.

429 (IGU) [7] [P.T.O.
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6. T URTY F P R Q ¥ & fowarR T fafim uferielt # yarfea a3t & 79 s

27.

28.

HIw| 4

In the figure, find potential difference between P and Q. Also find currents flowing

in different resistances.

2.4 A
SE S B

7

I

90 et
31141/ OR
Hiex A &1 R TSR | SH0! FETIT W B! €1 & TR BT HieR1eg B 1T B

YT A Bl T Bifote|

Give principle of meter bridge. How will you find resistance of a metallic wire
with the help of it. Derive the formula used.

U TRAY] ¥ U Sere A A1e & TRT 3R 6.6x10° W/A S I A 7A’ IS0 Bof e
W g 3T 21 39 qed A ORI 9T 39 d T ol & o Sifsel 4
In an atom, an electron is revolving round the nucleus in an orbit of radius 0.7A
with the velocity of 6.6X 10" m/s. Find the equivalent current and the equivalent
magnetic moment.

3[di/OR
- BT o TR | TR ERTATE G & B IR S JrcId 8 B el a1
ST I BHIfTE |
Give Biot-Savart law. Find an expression for intensity of magnetic field at the
centre of current carrying circular loop.

& Pt T & oy Pt oistes ogeae ifore, Set ot & rerferal 37 &- 4

Derive the following expression for lens maker formula, where symbols have

their usual meanings-

1 1 1
el

3RdI/OR

s aRiiErei W 31 T FHE & BRI & fEdiad aRAeRi & e & 3R
R RGB! AR Bl

What do you understand by secondary wavelets? Explain the reflection on the
basis of Huygen's secondary wavelets principle.

429 (IGUL) [8]
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